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All questions carry equal marks. (15 marks each).

Attempt any five questions.

Use of simple calculator is allowed.
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‘Define secondary data. State the chief sources. 3x5=15

Explain the concept of statistical significance. What does
the statement means “the sample mean is significant at

the 5% level of significance” ?

-Explain' the terms :

() Type I _aﬁd Type Il errors,

(ia:) Critical region. ‘ B
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The arithmetic mean of two observations is 25 and their

geometric mean is 15. Find :
(/) their harmonic mean;

(if) the two observations. 5
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() Calculate the median and mode from the following
data : 10
Value Cumulative frequency
Less than 10 4
Less than 20 16
Less than 30 : 40
Less than 40 70
Less than 50 , 96
Less than 60 112
LfV:ssrthan 70 120
Less than 80 125
(3 D s F iR e 25 qe St

e 15§ TE
() TAEF (harmonic) HIEA

() RN FEEHEA H OFG HAC)

FEO.



() fr= sifeer ¥ wiftcas w@ sga® &I MO

(@)

(®)

wifog

(

Value

Less than 10

* Less

Less

Less

Less

Less

Less

Less

than 20
than 30
than 40
than 50
than 60
than 70

than 80

4

)

Cumulative frequency
4

16

112
120

125
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What is skewness ? How does it differ from dispersion ?

Describe at least rwo measures of skewness.

o

A frequency distribution gives the following results :

() coefficient of variation is 5,

(if) 'variance is 4,

(iif) Karl Pearson’s coefficient of skewness is 0.5.

Find the mean and mode of the distribution.
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Find third and fourth moments about the mean for the
set 2, 3, 7, 8 and 10, 5
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Suppose X is binomially distributed with parameters 7
and p. If E[X] = 5 and Var[X] = 4, find n and p. 5

In a bolt factory machines A, B; C manufacture
respectively 25, 35 and 40 percent. of the total. Out of

their output 5, 4 and 2 percent are defective bolts. A
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bolt is drawn from the produce and is found defective.

" What are the probabilities that it was manufactured by

A, B and C ? (Using Bayes’ theorem) 10
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Do Laspeyres’s and Paasche’s price index met the Factor

Reversal Test ? Explain. ;

Calculate Fisher’s ideal index using the following data.

Does it satisfy the time reversal test ? 10
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Commodities | Price (Rs.) Quantity | Price (Rs.) Quantity
1979 .l 979 1980 1980
A 20 8 40 6
B 50 10 60 5.
C 0 15 50 10
D 20 20 20 15
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Commodities | Price (Rs.) | Quantity Price (Rs.) | Quantity
-1979 1979 | 1980 _ 1980
A 20 8 40 6
B 50 10 0 5
¢ 40 15 50 10
D 20 20 20 15
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Define the term ‘Correlation’ and ‘Regression’. What is
the relation between coefficient of correlation and

regression coefficients ? N

The correlation coefficient between the variables X and
Y is » = 0.60. If standard deviation for X is 1.50, standard
deviation for Y is 2.00, Mean for X variable is 10 and
mean vélue for Y variable is 20. Find the equation of

the regres'sion line :

() Y on X >

Gi) -X on Y. : 5
Define “kurtosis” and “skewness”. 5
“"gegeay’’ w@ 'wdiema’’ @ it @i
HeHay UE U YATTHA O @ st a
Hay & ? ’

W XTE Y F 9 GeEaH TOE - = 0.60 ¥
X &1 yA fa=es 1.50, v %1 w8 fagem 2.00,
X TR K WIEA 10 TN Y W H WA 20 R
YA @ % gHE

0 X9t Y
() Y W X I Hifeu)
“fowmen' qen gy’ @ gfanfae wifem)

(@)

(©)

WL 732

What is dispersion ? Discuss the merits and demerits

-of
(/) Range;
(i) Mean Deviation, ]

Calculate the mean deviation and standard deviation

from the 'following data : 10
Class width Frequency
05 W
510 5
10—15 ; e
15—20 13
2025 21
2530 | X 16
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Class widthr_ Frequency
05 ' 2
5—10 . 2
10—15 7
15—20 13
20—25 ' 21

25—30 : 16
Describe a normal distribution with a graphical sketch

-in context of probability and its properties; o

Suppose three coins are tossed together. List the
element of the sample space, the corresponding
probability and the corresponding values of weights (h)
of the random variable H, where H isl the number of
heads appear. Give pictorial represeptatiorn of probability

mass function using line graph. 10
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